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4. Ng hwjuwuwpwupni A BC umpublyynt towbljubitpund, AC §nndh dhelninnuhwjugh
ypw, Yytipgpty &b P Ytpb wybytu, np LPAC + ZPCB + ZPBA = 90°: %Yhgmp AC
ynnuih dhotmnnuwhwyjughtt wunpuionn judwywlui K Yphg gpuptp 6 AB mnnht
qniquhtin ninpn, npp BC' ninhnp hugpnud £ F Yypnud: Wygugnigly, np £, P, K, C
ytaptipny wbgmd £ opowtiugho:

5. NSnghwdltup 7 X 7 wynuuwyh Jubnulitphg jnipupwbs jnipnd jpugnptg 1 U 2 pytphg
npuk dtyp: Witkh yannh nhiwg gpbg wyn (pnnnud gpgwd pninp pYbtph gnudwpp, hul wdtb
wnibwyh Jtpmd gptig wyn yynibwynid gpud popnp pybph wpqpunpyup: Ntwpuynh
L wprynp, np uypugqud popnp pytipp (httb hpuphg qupptip:

6. %hgmp a U b pYtipp N Yhp phwlub pyh pwdwbwpupbtp b, pon npmd a > b:
Wwwgnigti, np

a>1+26—|—3.
b N
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